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1. Which activity is part of the Primary Sector?
A. Making clothes
B. Providing banking services
C. Mining coal
D. Teaching students ©
Explanation: Mining coal is directly dependent on
natural resources and is classified under the
Primary Sector.
2. Whatis produced in the Secondary Sector?
A.Raw materials
B. Final goods from natural products
C. Banking services
D. Healthcare (B)
Explanation: The Secondary Sector manufactures final
goods from raw materials provided by the Primary
Sector.
3. The Tertiary Sectorincludes which of the
following?
A. Cotton farming
B. Sugar manufacturing
C. Communication services
D. Dairy farming ©
Explanation: Tertiary Sector involves services like
communication, which support the other two
sectors.
4. What does GDP represent?
A. Employment rate
B. Production in Primary Sector only
C. Total value of final goods and services
produced in a year
D. Population growth rate (@)
Explanation: GDP is the total value of all final goods
and services produced in a country in one year.
5. Which of the following is incorrectly paired?
A. Mailman - Tertiary Sector
B. Fisherman - Primary Sector
C. Carpenter - Primary Sector
D. Banker - Tertiary Sector ©
Explanation : Carpenter is part of the Secondary
Sector, as it involves manufacturing.

6. Which sector provides services like banking and
transport?
A. Primary
B. Secondary
C. Tertiary
D. All of the above (@)
Explanation: Tertiary Sector provides services such as
transport, communication, education, and
banking.
7. Whatis the mainrole of the Secondary Sector?
A. Farming and fishing
B. Providing services
C. Transforming raw materials into finished goods
D. Selling imported goods ©
Explanation: The Secondary Sector converts raw
materials into usable goods through
manufacturing.
8. Which sectoris also known as the service sector?
A. Primary Sector
B. Secondary Sector
C. Tertiary Sector
D. Industrial Sector ©
Explanation: The Tertiary Sector is called the service
sector as it provides support to the other two
sectors.
9. Which sectorincludes agriculture and mining?
A. Primary
B. Secondary
C. Tertiary
D. Service (A)
Explanation: Agriculture and mining involve direct use
of natural resources and belong to the Primary
Sector.
10. What does economic interdependence among
sectors mean?
A. Sectors work separately
B. Each sector controls the others
C. Sectors depend on each other for raw
materials, goods, and services
D. One sector dominates the rest ©
Explanation: All three sectors are interconnected—
raw materials, goods, and services flow between
them.
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